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	Country concerned
	Question
	Answer
(a;b;c;d)
	Points

	Europe
	1. The forest area of the world:
	
	Number of points 
(0 or 1)

	
	a) Increases
	b) Decreases
	c) Increases or decreases alternately
	d) No change
	B
	

	Europe
	2. European societies expect from their forests:
	
	Number of points 
(0 or 1)

	
	a) Production of large quantities of timber
	b) Decreasing of forests area on account of the new fields
	c) Possibility of the grazing of sheep, cows and goats
	d) Increasing the non-productive and protective functions
	D
	

	Europe
	3. Forests in the country cover generally:
	
	Number of points 
(0 or 1)

	
	a) The most fertile soils
	b) The river valleys
	c) The land unsuitable for agriculture
	d) The plateaus
	C
	

	Europe
	4. Forests cover mountain areas very often due to:
	
	Number of points 
(0 or 1)

	
	a) Higher rainfall, giving the possibility of high increment of wood
	b) A more fertile soil than in the lowlands
	c) Waterprotection and soilprotection functions of the forest
	d) Only a scenic
	C
	

	Europe
	5. The forest area in each country in Europe includes land:
	
	Number of points 
(0 or 1)

	
	a) Covered by the trees in contact
	b) Coated by the trees over 5 m high
	c) With the characteristics depending on the country
	d) All land in addition to fields, meadows, water and buildings
	C
	

	Europe
	6. Forests in the British Isles are dominated by:
	
	Number of points 
(0 or 1)

	
	a) Natural forests of beech and oak
	b) Coniferous forests typical of the northern countries
	c) Poplar plantation
	d) Spruce stands, introduced species
	D
	

	Europe
	7. The Scandinavian Peninsula is dominated by:
	
	Number of points 
(0 or 1)

	
	a) Natural forests of beech and oak
	b) Coniferous Forests
	c) The plantations, mainly eucalyptus
	d) Fir and beech stands
	B
	

	Europe
	8. The dominant vegetation on the Mediterranean coast is called:
	
	Number of points 
(0 or 1)

	
	a) Tundra
	b) Steppe
	c) Maquis (macchia)
	d) Alwar
	C
	

	Europe
	9. Annual felling in the forests of Europe:
	
	Number of points 
(0 or 1)

	
	a) Twice exceeds increment
	b) Is equal to the increment
	c) Not exceeds increment
	d) Is equal to 10 % increment
	C
	

	Europe
	10. The largest area of the eucalyptus plantations is located in the following countries:
	
	Number of points 
(0 or 1)

	
	a) Hungary
	b) Spain and Portugal
	c) Great Britain and Ireland
	d) Germany
	B
	

	Europe
	11. Annual average increment in the forests of Europe is about:
	
	Number of points 
(0 or 1)

	
	a) 5 m3/ha
	b) 10 m3/ha
	c) 1915 m3/ha
	d) 20 m3/ha
	A
	

	Europe
	12. The largest share of strictly protected areas is in:
	
	Number of points 
(0 or 1)

	
	a) Luxembourg
	b) Liechtenstein
	c) Monaco
	d) Vatican
	B
	

	Austria
	13. How much of forests in Austria are mountain forests?
	
	Number of points 
(0 or 1)

	
	a) 20 %
	b) 35 %
	c) 50 %
	d) 60 %
	C
	

	Austria
	14. How much of forests in Austria is private?
	
	Number of points 
(0 or 1)

	
	a) 81 %
	b) 71 %
	c) 41 %
	d) 31 %
	A
	

	Ukraine
	15. What species of tree in Ukraine has the hardest wood?
	
	Number of points 
(0 or 1)

	
	a) Oak
	b) Beech
	c) Yew
	d) Acacia
	C
	

	Ukraine
	16. What does “fauna” mean?
	
	Number of points 
(0 or 1)

	
	a) Domestic animals, animals in zoological gardens
	b) Historically formed total of animal species that live in the particular territory and are a part of all its biocenosis
	c) Wild animals, birds, domestic animals
	d) Animals in zoological gardens
	B
	

	Latvia
	17. What is the percentage of state owned forests in Latvia?
	
	Number of points 
(0 or 1)

	
	a) 45 %
	b) 50 %
	c) 55 %
	d) 60 %
	B
	

	Latvia
	18. Which institutions are managing the scientific research forests in Latvia?
	
	Number of points 
(0 or 1)

	
	a) Institutions of the Ministry of Environmental Protection and Regional Development
	b) Institutions of the Ministry of Education and Science
	c) Forest Research station
	d) Limited Company “Riga forests”
	C
	

	Switzerland
	19. What are the main species of forests in Switzerland?
	
	Number of points 
(0 or 1)

	
	a) Fir and spruce
	b) Spruce and beech
	c) Pine and spruce
	d) Pine and fir
	B
	

	Switzerland
	20. How many percent of the Switzerland do the Alps occupy?
	
	Number of points 
(0 or 1)

	
	a) 60 %
	b) 70 %
	c) 15 %
	d) 30 %
	A
	

	Belgium
	21. In Belgium, the altitude varies between:
	
	Number of points 
(0 or 1)

	
	a) 0 and 700 m
	b) 700 and 1400 m
	c) 0 and 1400 m
	d) 200 and 900 m
	A
	

	Belgium
	22. What surface is covered by integral or managed nature reserves in Wallonia?
	
	Number of points 
(0 or 1)

	
	a) 221,000 ha
	b) 136,000 ha
	c) 384,000 ha
	d) 10,000 ha
	D
	

	Slovakia
	23. Species which dominates coniferous species in Slovak forests is:
	
	Number of points 
(0 or 1)

	
	a) Spruce
	b) Larch
	c) Pine
	d) Fir
	A
	

	Slovakia
	24. In 2001, rescue programmes were developed for the following species of vascular plants:
	
	Number of points 
(0 or 1)

	
	a) Drosera anglica
	b) Poa nemoralis
	c) Melica nutans
	d) Asarum europeum
	A
	

	Cyprus
	25. Private forestry in Cyprus is:
	
	Number of points 
(0 or 1)

	
	a) Non existing
	b) Very developed
	c) Profitable
	d) More developed than State forestry
	A
	

	Cyprus
	26. Suppression measures include:
	
	Number of points 
(0 or 1)

	
	a) Roads and Jeep-tracks
	b) Automatic forest fire detection system
	c) Fire Fighting Squad
	d) Heliports
	C
	

	Czech Republic
	27. Typical tree species of the upper-most elevations of the Krkonose National Park (above 1350 m a.s.l.) in the Czech Republic is:
	
	Number of points 
(0 or 1)

	
	a) Norway spruce
	b) Mountain ash
	c) European larch
	d) Dwarf pine
	D
	

	Czech Republic
	28. Sumava National Park in the Czech Republic:
	
	Number of points 
(0 or 1)

	
	a) It is situated in the carst areas of calcareous sediments of Central Bohemia. It was promulgated for protection of carst phenomena (caves, gorges, scraps phenomena), calciphile flora and typical oak-hornbeams forest communities
	b) It is situated in the South bohemian pan. It was promulgated especially for protection of water ecosystems of south bohemian ponds, peat communities and stands of flood plain forests
	c) It is situated in the southwest borders with the Federal Republic of Germany. It was promulgated for protection of ecosystems and landscape nature of montane forest
	d) It is situated in the uplands area of the Czech Republic southern part. It was promulgated for protection of natural mixed forests of uplands
	C
	

	Romania
	29. How many large protected areas can be found in Romania?
	
	Number of points 
(0 or 1)

	
	a) 15
	b) 34
	c) 29
	d) 20
	C
	

	Romania
	30. In Romania, the historical area of the forests was about:
	
	Number of points 
(0 or 1)

	
	a) 8,000,000 ha
	b) 11,000,000 ha
	c) 15,000,000 ha
	d) 18,000,000 ha
	D
	

	Portugal
	31. In Portugal, the tree species holly (Ilex aquifolium) is:
	
	Number of points 
(0 or 1)

	
	a) Dominant or abundant native species
	b) Prevalent or abundant non-native species
	c) Endangered species
	d) Not occurring
	C
	

	Portugal
	32. Cork oak (Quercus suber) trees can be mostly found in:
	
	Number of points 
(0 or 1)

	
	a) Germany
	b) Portugal
	c) France
	d) Poland
	B
	

	Estonia
	33. There are ... main forest types in Estonia:
	
	Number of points 
(0 or 1)

	
	a) 15
	b) 12
	c) 10
	d) 7
	C
	

	Estonia
	34. In Estonia, there are ... National Parks.
	
	Number of points 
(0 or 1)

	
	a) 5
	b) 1
	c) 3
	d) 7
	A
	

	Finland
	35. The standing timber stock in Finland is today?
	
	Number of points 
(0 or 1)

	
	a) 20,000,000 m3
	b) 2,206,000,000 m3
	c) 226,000,000 m3
	d) 2,000,000 m3
	B
	

	Finland
	36. How many percent of all employed people in the Finnish national economy worked in forestry and forest industry in 2009?
	
	Number of points 
(0 or 1)

	
	a) About 30 %
	b) About 33 %
	c) About 3 %
	d) About 0,3 %
	C
	

	Poland
	37. What is the oldest National Park in Poland, which is an example of Europe's primary natural forests?
	
	Number of points 
(0 or 1)

	
	a) Biebrza National Park
	b) Białowieża National Park
	c) Tatra National Park
	d) Kampinos National Park
	B
	

	Poland
	38. Polish Forestry Act (1991):
	
	Number of points 
(0 or 1)

	
	a) Applies only to state forests
	b) Applies only to private forests
	c) Applies to all forests, irrespective of their form of ownership
	d) Does not apply to the forests in National Parks
	C
	

	Norway
	39. The number of different habitats (in forests too) is larger than almost in any other European country because of:
	
	Number of points 
(0 or 1)

	
	a) Very rocky and mountainous topography
	b) Very diversified relief
	c) Strong influence of North Sea
	d) Large longitudinal range of country
	D
	

	Norway
	40. The biggest National Park in Norway, known from giving excellent opportunity for tourism, easy to rich by train (right in the middle of Park), or by Highway (passing thru) is:
	
	Number of points 
(0 or 1)

	
	a) Jotunheimen National Park
	b) Rondane National Park
	c) Hardangervida National Park
	d) Jostedalsbreen National Park
	C
	

	Germany
	41. How many Universities of Applied Sciences (Fachhochschulen) in Germany offer the study programme Forestry?
	
	Number of points 
(0 or 1)

	
	a) 10
	b) 20
	c) 5
	d) 15
	A
	

	Germany
	42. What is the future picture of a German forest? (Key word: global warming)
	
	Number of points 
(0 or 1)

	
	a) There are more conifers
	b) There are more decidious trees
	c) Conifers and decidious trees are represented in even proportions
	d) There is no difference to nowadays
	B
	

	Slovenia
	43. How much of the Slovenia territory is protected under Natura 2000?
	
	Number of points 
(0 or 1)

	
	a) 100 %
	b) 75 %
	c) 36 %
	d) 11 %
	C
	

	Slovenia
	44. Fundamental principle/s of forest treatment and management is/are:
	
	Number of points 
(0 or 1)

	
	a) Sustainability (sustained preservation of forests, sustained use of their goods and non-material functions)
	b) Close-to-nature management (exploitation of forests to such a degree and in such a way as to ensure the preservation of all their natural constituents)
	c) Multi-purpose management (a balanced significance of ecological, productional, and social roles of forests)
	d) All of the above
	D
	

	Greece
	45. Which is the typical forest type in Greece?
	
	Number of points 
(0 or 1)

	
	a) Boreal forest
	b) Temperate forest
	c) Tropical forest
	d) Coniferous forest
	B
	

	Greece
	46. Which of the following forest species carries needles?
	
	Number of points 
(0 or 1)

	
	a) Aesculus hippocastanum
	b) Ceratonia siliqua
	c) Quercus ilex
	d) Pinus halepensis
	D
	

	Lithuania
	47. After World War II, since 1948 Lithuanian the forest coverage:
	
	Number of points 
(0 or 1)

	
	a) Increased by 13 %
	b) Increased by 5 %
	c) Decreased by 5 %
	d) Decreased by 10 %
	A
	

	Lithuania
	48. The biggest area of Protected Areas are areas of:
	
	Number of points 
(0 or 1)

	
	a) Strict reserves
	b) National parks
	c) Regional parks
	d) Biosphere polygons
	C
	

	Hungary
	49. What are Hungary's largest rivers?
	
	Number of points 
(0 or 1)

	
	a) Rhine and Elbe
	b) Rhine and Danube
	c) Rhine and Tisza
	d) Danube and Tisza
	D
	

	Hungary
	50. What is the extent of the Hungarian virgin forests?
	
	Number of points 
(0 or 1)

	
	a) Slight
	b) Significant
	c) Steadily decreasing
	d) There is no virgin forest in Hungary
	D
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